J INarmaI

v || Arial

Adeniran Mustageemat Adedamola

18/ENG02/007
Computer Engineenng
NUMBER 1:
1 -2 -1 3
22 ]
A=
1 0 4 -2
0-13 1
xl
x2
B=
x3
x4
10
8
C:=
3
-7
B=A"'C
=1
2
E=
-3




“Namal

][l

o =B 7z U |E=E == ‘

NUMBER 2:

Ll -
o] *
=

e

=

=4
'y

|

BEE

o
wm

|

o
=]

|

ot
~

|

ot
w

als[=].]8]

|

g
S

|

v
o

|

¥(t) = sin(025¢) + 2t + ¢ O3 2m[

¥ =
-1
-0.856
-0.702
-0.541
-0.373
-0.197
-0.015

+

3

15

=t

10

)




| [Normal - ][ asial

¥(1) = sin(025t) + 2t + ¢ 03— Zco{%)

¥ = r

1
0856

-0.702 20
-0.541
-0.373

-0.197
-0.015
0174

0.368 —
0.568

0773 5

0.982 /'
1.197

(1]
1415 -

1.637
1.864 -5




